a(d z) (um) for PV Ratio a(dy) (um) for PV Ratio o(d x) (um) for PV

Ratio

=
o
W

£ : €
A IO A SN NS SO U SN 3
< : 2
o L. i i e
51072
i o
[0}
.................................................. E
g
X ~-3
] e
10?2 g
L1.4F T o 1.00f
U [N U0 T SO0 TS OO0 OO0 A0 g
: : N I JOUE SO OSSO O
b | R R R R e R R R [ [
0% 2640 60 80 100120 140160180200 092640 60 80 100120 140160180200 %2040 50 80 100120140160180200
Number of tracks Number of tracks
—=— DQM_correctCheck_mu_ptOpltol_eta2pOto2p5
—— DQM_original_mu_ptOp1tol_eta2p0to2p5
— —~ -1
E : g10
A IO S SRS UL SO SO Ef
= : o
o L. i i e
o] . §
51072
_______________________________________________ (0]
R =y
[J]
£
g
Ny A
10? <10 ’
o]
; o M—
: IS P
: o o
0 20 40 60 80 100120140160180200 0992640 60 80 100120 140160180200 802040 60 80 100120140160180200
Number of tracks Number of tracks
3 - 101
10 = =10
= =
N I
S §
° g
51072
(0]
=
(O]
£
S
N1n-3
510
(o}
= k) 2107
T I
1.05 [hd @

H
S

Number of tracks

9% 20 40 60 80 100120140160180200

Number of tracks

100120 140160 180200
Number of tracks

Number of tracks

20 40 60 80 100120140160180200
Number of tracks



	Contents
	Page 1


